INSTRUGTIO
SR

Installation and debugging
strategy

from novice to semi expert
MNINBEI"HFSFRY
TR IS

HIEMNSF
ZEEBIESRTHE L

Real master

Cars are all personalized

1B A=l I5

ELRSEVA T RAIN AR
General installation details and skills
Application effect brought by vehicle parameter adjustment

MXEBFHIGE LRI N ELZ

From here, walk out of your personalized road






PARTICIPATE IN EVENTS

S5/{IIERSMHINTE

S5

GT86+V3 SUPRA+V3 GTR34



INSTRUCGTIONS

RW 005
SR




About
Playing

BRIt



ABOUT
RW 00

P mAYER

&7 I—XRL
%5 OSN IR HE B T A MAOR EIFINE 1,

EREXR, RTIW—EF4L.

REATRE

T EFOABAER, LREZET
BERTRSHFREANTR. BB
LA LB RWOOF EELEE, 1LAR
tbREIXGRE

FIEMABRMNHEBFNAREE, &R
ESUARRRAEHENZR, BF litaraction
BARTUBECHRENRTAFLS
DR,

SRR 04
il

BREENRE
BBMBERE, HTRR—MELH
%, FRZETUBLBELD— R
ABECTRER, RENBTERE
2R BMEA,




01 COMMON TOOLS
ERAIR

ERNIAFTL,

fian: 7). W\, FH.
Wik, ERRER, EFR
L EnEREEAE,

IEIREFIRMAYEERE, B
. BB, Y. FEiR{
B MR B i By €5 i —

MERIEY TR,

iR
02 ELECTRONIC

ER ENETDIES
T8, SBENSFX
Bx, W¥/ERISCRRELRA

WR,

FREH
04 TUNING CAR

03 INSTALL
LA LR

R T MANZRIRE, EiF
HTE—LERAME.
IS,

s

05 DEVICE SETTINGS
REFIRE

BFRENSNoE, R
IFRFRRR. BFeHER
TEREENEEMRN S
Li= =t

FRrER &M TERRE
His. HhEmmEE. Hik
AE, HEpEREIAE,

HikE 2z @RS,

B i
06 DRIFT ROUTE

— iR IE E L REaY B
HEE . FREEER, X

07 SKILL
BRI

Wi T8-S
15, BEEMMRANE
U EERE.

Bz E AR TS

RS LL IR



2 oK/ VY /4
: O, .\_H_,_ OQ\‘\O

; )
] . .




Treatment of hall connector
BRSL AR

During installation, if the ball connector is stuck or not smooth,
You can use pliers to clamp it gently at multiple angles.
It feels that there is a complete fit between metal and plastic.

ELZANERES |, NSRIBEIIRSLHINTR-RECANTS |,
AILARRH , SAEREXR—T. NEAREEES
Bl ZElElhE.




BiE¥EETHEELCEA

Increase stability
B R R FANE, BEESSERESE. SENHEEE

Default state Changing the position makes suspension
easier to compress and recover

ﬁ
BRUENE, FHEKELE, BN R NE, N
EREERERS, REXTH, (ERHEERERE, REXRZ.
Change the position of the gasket to Adding shims to change the
change the length of the force arm. force arm makes suspension
Make suspension compression easier compression more difficult
and recovery more difficult. and recovery easier.
—
Aﬁfex increases stability Increase corner exit performance
IEINEOREY IS AEE

y AR S

- W o —




. BUEEE=ETOBEUCEA
IEIN—EETR, SEEmREEINZY
Adding a set of shock absorbers will
make the steering performance more linear
Work after reaching Changing the position makes
" , the apex suspension easier to compress
Priority work during N RSB TIE
the Corner phase ) ERAIE, BEEAEEE
NEMERFTIF
ﬁ
Into the Corner to increase stability
NS EIEIMEEGE
Change the position of the gasket to ﬁ)drgéngrrsnhmq;kte% gﬂgngﬁsﬁgﬁ
change the length of the force arm. compression more dﬁ‘ﬁcult
Make suspension compression easier ex increases stability and recovery easier.
and recovery more difficult. HENEs EaE

. 3 e B
BE AR, KNS, TNE, _
RS, SR, EEEEETE, WEEAS.

y AR S (-

T, w0 0.0 —

Increase corner exit performance
n w n n s o




THEHEA6 IRET,
B rESHEIE R ERER
fse S AR LRSI TEIRIRER,

Caster In the state of 6°, Move to the
limit after turning to the structure,
Ackermann angle can achieve the effect
shown in the following picture.

N

. WWW IR -No.ceN  —

Ackermann adjustment
reEHf e S FAEE

FHEHEA14 BRET,
RS ERIR,
Pse S AR LRSI T ERIRER.

Caster In the state of 14°, Move to the
limit after turning to the structure,
Ackermann angle can achieve the effect
shown in the following picture.




A

Reference data
SZ80R

The length of the
upper and lower
swing arms is the same

LETEERKERER

f.
>

Y

—C position
AU

Choose different positions
based on the width of the vehicle.
BIEARER, 1EAAEME.



Number Castr position Offset A B C Remarks
RIS =SNG aeS Eia EEE TR EES
RS FEEMm FUAZ WEES B . o BZiE
(RKE) 2 (0-1.5) Narrow tire Wide tire
ERR TEE
1 6 F -2 0 7.9 1.5 67.2 70.2 Using original swing
arms
2 6 F -2 3 10.9 1.5 /6.5 79.5
3 6 F -2 4 11.7 1 78.5 81.5
4 6 E -2 5 10.6 0.2 80.5 83.5

SRR ™EE
6 14 F -2 0 7.8 0 67.2 70.2 Using original swing
arms
/ 14 F -2 3 10.7 0 76.5 79.5
8 14 F -2 4 11.7 0 /8.5 81.5
9 14 E -2 5 10.7 0 80.5 83.5







Rear toe adjustment
S

BT EAEELEM, AILUETRARIA/N,
BERTMRIZZSRRIET.

By adjusting this part left and right,
the size of the teo angle can be adjusted,
< = 0 = > suitable for MR mode and RR mode. —) €=




Rear anti-squat adjustment
=SB IEAAEEES

By the number of shim, 2x4x0.5 Shim
adjusting the anti-squat.

BYRAAE, EThIEA.

Starting action: fast Starting action: Normal Starting action: Stable

i N NN

ﬁ
Front of the car

RWO0OO0S

—.--.m--‘_




Hiddenc
BRI LE RS

AJLAEESEARETIE,

Hidden wiring can make the overall

body cleaner.

Beietz ULk,

Battery E;th

Hide the circuit from

the base plate

PERSEL TR

5254

Wire groove Zi&




Multistage variation
RS2 ERE R

B E R LASERT VAR,
RHAENEODTHRCER,
LGS ESHITERE.

The motor position can be adjusted
in multiple stages, providing different
center of gravity distribution effects,
which can be suitable for more

track environments.

AN LN

_— W ncces C—




Multistage variation
BB EZERTHEY

BB ERTLAS ERTVEEE,
RHEAENEODTHRCR,
LIS EZHIFERER,

The motor position can be adjusted
in multiple stages, providing different
center of gravity distribution effects,
which can be suitable for more

track environments.

FATE R (-

-
. WWWL RO i0.ceN  O—




Multistage variation
FEtlZ ERErEY
MR mode

MRt==U
A ET LSRR,

RHABENEODHICR,
ALAESESHIFTERER.

The motor position can be adjusted
in multiple stages, providing different
center of gravity distribution effects,
which can be suitable for more

track environments.



Multistage variation
FEH 52 FR A
MR mode

MRA==C

B ERLASERIVEEE,
RHABNEODHIR,
ALUESESHIRERER.

The motor position can be adjusted
in multiple stages, providing different
center of gravity distribution effects,
which can be suitable for more

track environments.



Multistage variation
U B 55 B A E

RRA==C

B ERLASERTVEEE,
RHABNEODHICR,
AJLUESESHITRERER.

The motor position can be adjusted
in multiple stages, providing different
center of gravity distribution effects,
which can be suitable for more

track environments.



Multistage variation
55 R s Y
RR mode

RRA=E=U

EA SR LAZERTUREE,
REARREODHRR,
LIRS EZHITERE,

The motor position can be adjusted
in multiple stages, providing different
center of gravity distribution effects,
which can be suitable for more

track environments.






RWO00S
install

RWOOSZE2R4H%E



Video instaliation

TR

Chinese English

rw00sbilibili.zero-rc.com rw00syoutube.zero-rc.com

BT RN BRI, |
Introduce the installation process in detail through video format.



2-M2x5

/ RH Screw

. 4-M2x3.5
Ball Connector

2-2x2.5x3.1
Guide sleeve

2-2.5x6x0.1
Shims

RIBEFRBER , ZERLERRHE,
KAgs A E , RER DEPRR.

Select the number of installed gaskets
according to the actual situation.
Mainly smooth and minimize the gap.




2-M2x6
Set Screw

AR A E, BT &/NEF

2-10mm
Ball Head

Mainly smooth, and adjust
\ the minimum clearance.
) 2-1.5x14
i Pin

» rm.v(((@

«~— 10mm —>

P

2-M2x3

Stud
RIEFEREEIEFERSE
Select installation according
to vehicle width

2x4x0.1
Shims

R HI A,
A HRIESE RIS L,
FEUAEALIEIME A,

If there is any difficulty,
shims can be added here
according to the actual situation




2-10mm
<«—10mm-—> Ball Head

2-M2x6
Set Screw

2-M2x3.5
Ball Connector

2-1.5x16
Pin

4-1.6x3x0.3

Shims 2-M2x3
RIESCEREN, BTLASEIREIEINT.6x3x0. 18,
LURSEAE, RERDERE, Stud
According to the actual situation, 1.6x3x0.1 gasket Rt e Rt
can be replaced or added, :

: s Select installation according to vehicle width.
Mainly smooth and minimize the gap.




nspAE, AEREAZR/ER
- £ o Mainly smooth, and adjust
'y - AN the minimum clearance with shims

4-M2x4
CS Screw




2-M2x4
CS Screw




2-M2x4
CS Screw



2-M2x5
RH Screw

2-2x5x2.3
Bearing

2-2x4x0.1
Shims

%\ 3-M2x3

Ball Connector

A &)
Movable



=& Yellow

$R & Silver
o 32

EEAE, 3.0 NFLmL e kAT
Pay attention to the direction,
as indicated by the red arrow on the 3.0 inner hole

-

N 2-M2x12

I CS Screw

Copper Column

JEE E F Rl
Fixed on the base plate first

2-3x6x3
Plane bearing

2-3x6X2
Bearing

ALATREE , fRUEIREZFAE R D,
The tightness can be adjusted to

2-M2
ensure smoothness and less clearance.

Nut







2-M2x6
RH Screw

2-M2x4
CS Screw

;/

EIEEE AL, RV AEREPE,
Remote control returns to the center position,
and the angle of the servo arm approaches the middle.

M2x3 _/%@

Ball Connector M2.5x4

A/ CS Screw




Clockwise installation

I Bt &2 3%

\

4mm-

HAT T & 3%
Install counterclockwise

M1.6x11
Short

4mm
Ball Head

M1.6
Short

7.5mm
Ball Head

4-M2x4
CS Screw



2-M2x5
RH Screw

2-M2x3.5 |
Ball Connector




;3]
Short

Handle the clamping line of the
shock absorber rod to be smooth.

LB BRETHEREENLRE

Shock absorber angle effect

1. At the hole position close to the inside,

the turn in reaction is fast, and the out turn points to the outside.
2. At the hole position close to the outside,

the turn in reaction is slow, and the out turn points to the bend.

Bt 7 2% A LR
1. £ERBFLE, ATRER, HEEEMNE
2. FHIFLEL, ANERNE, HEEERE

7.5mm

7.5mm
Ball Head

a2

Clockwise installation

j 2.5mm

7.5mm
Ball Head ERTEEE 7.5mm

Counterclockwise installation '
_ 2.5mm




6-M2x3.5

Ball Connector

2-Whell Axle



s
)
ﬁx

RRIEREF—ERNARE,
B LE 52 Im 32 5
Please maintain a certain angle
during installation to
prevent affecting rotation.

B Et223=
Clockwise installation
2-4mm
Ball Head
4mm

SEAL DR e / \
Counterclokwise installation
2_7.5mm 2_M1 .6)(1 7

Ball Head Long

7.5mm

4 2.5mm



,/
(ERRRERTTRE CiB
Sand smooth with
sandpaper
| SHEROKRETE— KRR L |
BRAFSLLE  NERESH L,
First drop the glue on a piece of waste paper,

then dip it with a toothpick
and apply a small amount on the parts.

s IR MFBRLHTALR | EINRERNERK , BE/NE. FEFAERAAE.
¢ This part needs to be assembled first.
Use a small amount of glue on the outer layer to fix the outer ring.
Be careful not to point in the inner ring.




Differential mechanism
ZEIREE

Bearing

SRR, EWTIES.
After locking,

i M2x4 : :
Bearlng the vehicle runs in.

\ RH Screw
ZIEHEEEEE

3x6x2

10-1.9mm
Ball

6x10x2.5
Bearing

Description of differential damping effect
ZIHR 25 EE BRI B

1. The damping effect is large, the rear of the vehicle is easy to adjust the angle,
and the vehicle accelerates slowly.

2. The damping effect is small, it is difficult to adjust the angle at the rear of the vehicle,
and the vehicle accelerates quickly. (differential oil is not recommended)

1. HEHERX, FREAEAESS, FWINEE.
2. PHEXER/N, ERAEAERME, ZFEWMINER. HEFAERZERER)







Belt drive installation method
RfeaIREAT0

2-M2x5

RH Screw /

b

i (e

‘-

-
‘-

2x4x0.3
Shims

M2x5
RH Screw

M2-10
Aluminum Column




Timing belt 38T /



Belt drive installation method
R =T\

3x6x2

Bearing
M2x4
/ CS Screw

RH Screw




. 2-M2x5
Bearlng \ RH Screw
il
2x4x0.3 | ‘—-
Shims }j B

\ .
RH Screw

M2-‘|O
Aluminum Column




4
\ .
\ -
3 ’
\
\
\
\

LN

X O
N
 w Y

Y
\



Gear transmission installation method
HEAERIZETT T

3x6x2

o \
M2x4 /

CS Screw

RH Screw




2-M2x4

CS Screw j




Belt drive instaliation method
RRHEINZEETT T\

4-2x4
RH Screw




4-2x4
RH Screw

AR




4-M2x3.5
Ball Connector

2-M1.6x3
RH Screw

4-3x6x2
Bearing

mEpiEsh, WMRE, BAIRE—T.
Smooth movement is required.
If it is tight, please scrape it with a blade.

2-M1.6x4
RH Screw

-
-
-
-

)

2-1.5x9
Pin




2

2-1.5x14

Pin

RAHEiE, mTE
Clamp with pliers and press down

3
AN

MRS
Relatively tight

Z¥#E, B PIn Y, AFT—O &%,
After installation, take out the pin, For the next installation.



AtHFE, MTE
Clamp with pliers and press down

2-1.5x14
i Pin

AR
Relatively tight




4-1.6x3x0.3
Shims

RIESEBRIED, AILAEIREIEI 1.6x3x0.1 B,
snAE, RERDERR,

According to the actual situation,

1.6x3x0.1 gasket can be replaced or added,
Mainly smooth and minimize the gap.



Belt drive installation method
Rt IR=AaT\

EHERIAT A Belt mode features:
1. EWERNTE. 1. The car reacted slowly.

2, ITEMEES 2. Easy acceleration.

3. EERL 3. Less noise




Gear transmission installation method
SNV Y a

e S =l
Gear drive installation mode

f : . .
Gear mode eatures_ Y
1. The car reacts quickly. 1. G RitR.
2. It is difficult to accelerate. 7 453 hn:% F %
3. The noise is a little loud. 3, MER X



2-10.5
CvD

2-3x4.5x0.1 RIECIRBEIGERELEDRAVEE;

/ Shims L RERE, FHReIsemR/ N ak,

Select the number of installation

gaskets according to the actual situation;

Prioritize smoothness and minimize gaps as much as possible.

THEZEREGEEURTENATE,

W R =P RS EE

The following installation will mainly focus on
belt transmission as a demonstration,

and the installation steps for gear transmission will also be the same




4-M2x3.5
Ball Connector




2-M1.6x8
Set Screw




-M2x4
RH Screw

N




Handle the clamping line of the
shock absorber rod to be smooth.
WIBREFNSEZZENXS




Belt drive installation method
R1EHIR=LI

R R It Xt 57
Belt pulley groove alignment

2- M2x5 /
RH Screw

A RERE

/7 The belt cannot be too tight



ion method

RH Screw

e W\M& :
3,

4

tallat

WRAENREL

Gear transm

c
]

7]

=

O 4= L
4
i 82
H oD
U o=
._Mno
Z_ (C
< &3
qs ©
= o VY
I
=
Ee2
‘mmm
- =
s 6
.r.:.eh
"Ew
=
%\,n_n;%
5
lsg
HE o
xS




2-M2x4

% ﬁ RH Screw

2-M2x4
CS Screw

2-M2x18
Aluminum column
fatE

2-M2x4

i iﬁ CS Screw




M2x4

4
CS Screw




@

] 2-3x8
2-M2x6 & . %Zg“et
Set Screw .
2-M2x10
Aluminum column
2-M2x5 | / fatE
RH Screw

2-M2x5




@ % 2-3x8
2-M2x6 | Magnet

Set Screw j % F5 5k

i 2-M2x18
Aluminum column
! atE
2-M2x5 | '
RH Screw N\ !

- e
| |




4-M2x4
CS Screw



Left and right symmetrical installation
EAaXTIRE I

RIBFBEFRBRIEFLEERONE,
HEZERBFEBE, FRATEERMDERR.
2-3 X45X01 Select the number of installation gaskets
. according to the actual situation;
Shim Prioritize smoothness and minimize
gaps as much as possible.




y ) U e

/8




54

|
e

)

Instaliation scheme of hattery rack

Lt 2R A &= 5% 77 % 01

acceleration capability
TEMES

iy FE

This plan focuses on

2-M2x5

o %/ RH Screw

RH Screw

=
o~
2-M2x5

o

A

2-M2x6
Set Screw



A ZRAI = 5 77 5 02

Installation scheme of hattery rack

This scheme focuses on the

KEE a1 HE T

=}

1E

)

7%

steering ability of the front

2-M2x5
RH Screw

2-M2x6
Set Screw

2x2.5x3.1

/ Guide sleeve
A

[



2-M2x5
RH Screw

Y
# 2-2x2.5x3.1
,‘@ﬁ Guide sleeve

2-M2x10
Aluminum Column

h 2-M2x5

RH Screw

Installation scheme of hattery rack
At Z8 AT % 35 77 55 03

This scheme focuses on the initial
drift ability of the rear of the vehicle
AR ETEFRERZZEET




Options
accessories

o



BIEE TS
2-M2x3.5
Ball Connector

RBARESTEE, ERFKEE
% Choose long or short according
to different body widths.

2-M2x2.5
Set Screw



Ontional metal front upper swing arm
BI_EIEERAS

2-M2x2.5

Van Set Screw
=

|

|

|

|

|

|

REARESERE, EFIKEE,
- Choose long or short according
% to different body widths.

2




HRIESCRRIER, TSRS 1x2x0.1 T Bearing swing arim seat
inggAE, RERDIEM, iﬂﬂg‘(}%% —éﬁ%jj_]_:t

According to the actual situation,
1x2x0.1 gasket can be replaced or added,
Mainly smooth and minimize the gap.

2-M2x4

RH Screw j

4-1x3x1
Bearing

() v
) 4-1x2x0.3
FLiZ MR/ FLiZ R K ]

Small aperture Big aperture Shims
R IE R E RO FLIB R —HE, RIFSEFRIEN, AILAEIREGEIN 1x2x0.1 £ 5,
BRRAIPDIELN. A A E, RERDIEE,

The holes on the front and back . ) )
of this bearing are different. According to the actual situation,

Please use the larger side to enter.

1x2x0.1 gasket can be replaced or added,

4-1x3x1

Mainly smooth and minimize the gap.

Bearing



BUEEESR

EERIEAE, FEEE—BELTINFILENE
Adjustable front and rear positions to kee
M2x4 : d i

the suspension in an excellent performance position
/ RH Screw

Front and rear limit positions
B H BRA ST B S S




2. ZHN R
2. Install the brake disc

1. RS STh EE o
. 1. Put the brake inside first

°

2. 22t | N\
2. Install the brake disc L~ \

LIRESCIRER | R E.

2 SRR MZERIRE | BRERDER.

1. Select the installation quantity based on the actual situation.
2. First ensure the smoothness between the parts,

and then minimize the gap as much as possible.

1. R FEZEEER
1. Put the brake inside first

20 4
19655,
1. Install first.

2RRE.

2. Rear installation.




OPRitCHNZZ<

2-2x4x1

1 HIEMETE, TEEALL
O-ring ek zEsl A1,

Selective installation can increase
the traction of the front wheels
after installation.

2x3x0.1 or 2x3x0.3
Shims

MBERER, HIASHEAMGER,
AT LA R I A .

If there is a situation of beinlg too < 3/
tight or too loose after installation, W
the number of gaskets can be adjusted.

O Bl %xuE

Installation position of O-ring




&7, INEETIE, ER.
Upper installation hole,default
suspension travel, fast action.

Bearing - Rear Lower Arm

M - R TR

TREFLMINBIEITIE, ME&ME. (EF)
Lower installation hole,Increase suspension
travel and linear action. (Recommended)

b3z fl, TEREHFEAAI.4x10 Pin,
This installation hole requires replacement
of the 1.4x10 pin in the accessory package.

2-1.4x10
pin

(HEF)
(Recommended)
HEINEEL M

Increase suspension
linearity

R E2E RS _
Accelerated suspension
restoration

4-1x3x1 l

Bearing '
e e
(%) (V) -~ o

FLiE LA 4-1x2x0.3 : ~s
Small aperture Big aperture Shims S %

FLAE A — IRIESEPRIE, RILAEIREEI 1x2x0.1 B F, 4 : "

e bl SRS E, R D EIF. - : i

8 RH Screw

The holes on the front and back According to the actual situation,

of this bearing are different. 1x2x0.1 gasket can be replaced or added,

Please use the larger side to enter. Mainly smooth and minimize the gap. 2-M2x4

RH Screw




HIGH TRACTION SHOCK ABSORBER

IRESIREIR , IR RS LM,
BURHE A T | R &R D IER,

Select the number of installed gaskets
according to the actual situation.
Mainly smooth and minimize the gap.

4-2.5x6x0.1

Shims 2-2x2.5x3.1
Guide sleeve

6-M2x3.5
Ball Connector

Soft Hard



lEk%E  BEAEREE.
It can be installed in front and back,
with different widths.




3x4.5x0.2
Shims

B TRYEHRIVIARIZEE | 1BINEE R EE.
The number can be increased or decreased
according to the tightness of the bearing.

—




Hard

Soft




Drift tire

ELEZ S

-1

+7

28mm
SRR B E AR R,
The actual contact area
with the ground is the same.
+7
| 22%26.9Xx9mm

10.5mm 0

22X28x9mm

~ 26.9mm

22X26.5x10.5mm

O

22X28x10.5mm




AIEmEsE | ROE.

Smoothness and concentricity can be increased.




Tuning car

IR



AL [E) 2R 5

1, S TEEETH AL TTIE

1. First adjust the lower swing arm to be
nearly parallel to the ground

2, LAEGKAEASEY), BREATWIREIFEME, 53R,

2. With the ball connector as the reference object, adjust the
steering mechanism to the middle position and be
symmetrical left and right.

3. RRIRIBPIAIITHKE.
3. According to the pull rod length
in the instructions.



How to ohserve Ackerman
A EIPUVL Bt

Move the line of sight to the
coincidence of the upper and
lower swing arms for observation.

BB E E FEEEQHITIE.

This is just above, and the upper and lower
swing arms do not coincide.
The observed Ackerman will be incorrect.

XRIELS, LTFEEREES.
M AP 5 S5 A LER.

(% B

R
TEE— —
E—— —
E— comm—

w:
|

®

j \

8 —

L’ 3 \r i
=



How to adjust Ackerman
A EINERR G

ERMIEIRIEASE

Use grid plate as reference

— 1. FangsRMEe , SEEHB e TRIKA.

1. Manually move the inner wheel to find the

— minimum included angle between the two wheels.

BFREEHMABE.

2. Adjust the pull rod of the outer wheel so that
the included angle of the two wheels is close to
parallel, but there can be no negative angle.

TERESMERNLTEE  fFEREF—HLZ.
AR HM WS |, iBERH A ERILE,

Note that the upper and lower swing arms
at the dotted line need to be installed in the
same straight line. If there is an offset,

use pliers to correct the position.

EAERERGE
XRE TS,

Use the same method
to adjust Ackerman
symmetrically.

YEMSRALERE | ARER
BRI MR ELEF,
After the physical Ackerman
adjustment is completed, then
use the remote control to adjust

the steering mechanism to the center.



